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Test 1 (Unit 1 and Unit 2) version 3

Question 1.
Evaluate the following expression for z = 101
6 +6vVz — 1
OA. T2
oe. 0
oc. 96
oD. 120
Question 2.
Simplify.
V98
OA. 1447
OB. ™2
Oc. 492
op. 27
Question 3.
Simplify.
V200
OA. 20410
OB. 10V2
oc. 100v2
Op. /0
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Question 4.

Question 5.

Question 6 .

Question 7.

Select the correct symbol.

vio ? &
OA. <
OoB. >
oc. =

Simplify: 4v6 + 3v24

OA. T/
OB. 148
oc. 10V8
Op. 20¥6

Which of the following inequalities is true for all real values of x?

O A Vaz? < 4s2

O B. 4(z2-3) < 3(s2 -4
O c. (3z)° < 42

oD 4/z2 <%

An expression is shown below.
EV33x

Which value of x makes the expression equivalent to 1533 ?

O A 3
OB. 9
Oc 45
O D. 225

Page 2 of 8

Copyright © 2019 Edmentum - All rights reserved.

https://app44.studyisland.com/cfw/test/test-builder-library-preview/0?CFID=5f4a16b6-38d... 8/12/2019



Preview Library Built Test (Printable Worksheet) Page 3 of 8

Question 8.
Four expressions are shown below.
5 T
5vE bzl Ar &
Which inequality comparing two of the expressions is true when 0.2 < x < 0.6?
5
O A 5/ > Ar
T 5
O B. B -3 Az
Oc. E>bz2
O p. 57 > 52
Question 9 .
18x%y  30:%*
What is the greatest common factor (GCF) of the monomials shown above?
OB. 6x2y
OC. g0yt
OD.  goxtys
Question 10 .
3
Which equation correctly shows that (%)” = £12
O A (2% = 3% = 120 = 12
0B (#2P= (e (=)t =r -2 25 -2 -7 -7 -2 -7 -7 -z -7 = 5l2
Oc (247 = (24)(«3) = 512
OD. (24)° = 3z% = 2% + z% 4 z¢ = 712
Question 11.

Look at the three monomials below.
18x%°7°  30x%'z  10xy*Z?

What is the least common multiple (LCM) of the monomials shown above?

OA. 9027
OB. 6x°y°z
oc. 90x*y5z*
OD. g2
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Question 12 .

Solve the following.
VI2 X 53 = 7

OA. ?
og. 0

oc. 515

op. ©

Question 13 .

The greatest common factor (GCF) of x*y® and x°y* is x°y. What is the value of k?
O A 1
OB. 2
Oc. 6

O D. 20

Question 14 .

18xy  66x%y  6X°)°

What is the greatest common factor (GCF) of the monomials shown above?

OA. 6xy
OB. 6x%y2
OC. 108y
OD. 1985y
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Question 15 .

Question 16 .

Question 17 .

Order the following list of numbers from least to greatest.

39 5 23
T,08,% VB3
23 39 s

OA. T, % 78, VE9

23 39
OB. 78, el VB3, 5

23 39
oc. £ 89,2, 78
ob. v89,2 % 18
Select the correct symbol.
T 6
7 75
OA. <
OoB. =
oc. >
Simplify.
1,584

OA. 144411
oB. 1T
oc. 2643
Op. 2243
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Question 18 .

Question 19 .

Question 20 .

Simplify.
V63
OA. 97
oB. 37
oc. ™3
oDp. 21V3
An expression is shown below.
NCIE

For which value of x should the expression be further simplified?

O A x=6
O B. x=10
OcC x=14
O D. x=17

Two monomials are shown.
240536 4200543

What is the least common multiple (LCM) of these monomials?
O A. 120st

O B. 1206

O €. g400s*f

O D. 84005
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Question 21.
Simplify the following expression.
82 . 112
OA. 8(112)
OB. 88
oc. 11(16)
op. 88%
Question 22 .
21xy%z  77xYz
What is the greatest common factor (GCF) of the monomials shown above?
OA. 7xy22
OB. 7x4y22
OC. 231xy%2
OD. 231,07
Question 23 .

Evaluate the following expression when n = 1.

[n-8]-13-n|
OA. 5
OB. -9
oc. 1
ODb. -1
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Answers
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